Relationship and its ends differ in context

Abbreviation

DifferinContext

Description

The context of the relationship does not match the context the connected property is displayed in.

Severity

error

Constrained Element

Diagram

Solvers

You can use one of the following solvers:
® Update Context of Relationship - updates the actual path of the connected property.
® Decontextualize - removes the relationship context.

® Remove from Diagram - removes the symbol from the diagram.
® Delete from Model - deletes the element from the model.
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